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Þ  volumetric data   100oF, 200psia  

CO2  fugacity   

 

 3

( ) 1 10 20 40 80 120 160 200 240

( / ) 136.6 13.61 6.778 3.363 1.657 1.088 0.8033 0.6376 0.5237

p psia

v ft lb



  28 

 

 
clear all; 

p=[1.0;10.0;20.0;40.0;80.0;120.0;160.0;200.0]; 

vms=[136.6;13.61;6.778;3.363;1.657;1.088;0.8033;0.6376]; 

% 

r=14.7*359.0/492.0; %[psi ft^3/lbmol R] 

t=100+460;  

for i=1:8     

    vml(i)=44.0*vms(i); 

    z(i)=p(i)*vml(i)/r/t;  

    y(i)=(z(i)-1)/p(i); 

end 

plot(p,y,'-o') 

AR=trapz(p,y); 

fuga=200*exp(AR); 

disp(fuga) 
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